
PO Box 430 Cleveland, OH 44107 • Phone (216) 521-8567 • Fax Local 521-9476 / USA & Canada (800) 344-9191
E-Mail: sales@martindaleco.com • Website: www.martindaleco.com

MODEL K MICA-MILLER UNDERCUTTER - STANDARD HEAD
PARTS LIST

Quantity Description Catalog No.
1 5/16-18 x 1 Cap Screw M-MU10
3 10-32 x 3/8 Cap Screw M-MU11
2 Screw, 5-40x1/8, Socket Hd., Set
2 1/8 x 5/16 Driv-Lok Pin M-MU15
1 Nut, 1/4-28, Jam M-MU366
1 Depth Gauge M-MU367
1 Slot Guide Casting M-MU368
1 Slot Guide Block M-MU369
1 Guide Width Screw M-MU3611
1 Guide Depth Screw M-MU3612
2 Screw Cap M-MU3613
3 Bearing M-MU77R4
1 Body M-MUD770
1 Saw Spindle M-MUD771
1 Saw Retaining Nut M-MUD772
1 Gear M-MUD773
1 Cap M-MUD774
1 Guide Wheel M-MUD778
1 #10 Washer M-MU3655
3 #10 Tee Cap M-MU996231



PO Box 430 Cleveland, OH 44107 • Phone (216) 521-8567 • Fax Local 521-9476 / USA & Canada (800) 344-9191
E-Mail: sales@martindaleco.com • Website: www.martindaleco.com


